An excerpt from Alg2Pak V1.0, by Tamkis!
Quadrat

Finally, the program everyone has been waiting for, Quadrat. The handiest program in this group, it solves the quadratic equation [b±√(b2-4ac)]/2a for any quadratic entered in order to find the x-intercepts (if they exist). If it is reducible via division, it shall do so; otherwise, the user will receive and imaginary (ι) number or a crazy decimal. The user must check the simplification himself to make sure he has the best x-intercept! In addition, in order to prevent the “nonreal answer error” that happens when a radical becomes imaginary, go to ( and then change REAL to a+bι. Most importantly, this program has an optional link to Pardat in order to find the y-intercept, the point-symmetric, and the vertex! The user will then have all information of the quadratic!


The following pictures find the x-intercepts of the quadratic 2x2+3x+4. The other pictures find the other information via Pardat, and the other set illustrates how to change to imaginary(.
Steps:
1. Launch Quadrat
2. After initialization, the program will remind the user about the quadratic equation.

3. Enter a, b, and c of the quadratic

4. The program will then display the simplified versions of –b, b2, -4ac, and 2a. This is usually the unreduced answer to the equation. If it is not reducible, the user should use this answer.

5. Lastly, the program will try to simplify the equation via division. If the answer is a decimal, then it usually cannot be simplified; if it is an integer, then it has been simplified more. The user himself should check the “simplified” answer!
6. A menu named “Pardat” will then appear. Click “yes” to find the other information, or “no” to quit. (The user should refer to Pardat)
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Changing to imaginary MODE
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(If yes, Pardat Link)
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Graphing check
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The Vertex
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     The Point-symmetric

                      The Y-intercept
(There is no x-intercept because the parabola does go far enough! However, if it did exist, one could trace to the positive and negative REAL quadratic answer…)

The error received if not changed








